End of Module 3 Study Guide Answer Key
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1. Gloria says the two expressions " (12x + 24) — 9x and —6(x + 1) are equivalent. Is she correct?
Explain how you know.
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2. Agrocery store has advertised a sale on ice cream. Each carton of any flavor of ice cream costs $3.79.

a. If Millie buys one carton of strawberry ice cream and one carton of chocolate ice cream, write an
algebraic expression that represents the total cost of buying the ice cream.

379(8+¢)

b. Write an equivalent expression for your answer in part (a).

2795 + 3. 74c

c. Explain how the expressions are equivalent.

Partb is thesame expression as parta withyhe dishributive property
applied and in standard form.



3. Anew park was designed to contain two circular gardens. Garden A has a diameter of 50 m, and garden
B has a diameter of 70 m.

a. If the gardener wants to outline the gardens in edging, how many meters will be needed to outline
the smaller garden? (Write in terms of m.)
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b. How much more edging will be needed for the larger garden than the smaller one? (Write in terms of
T.)
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c. The gardener wishes to put down weed block fabric on the two gardens before the plants are planted
in the ground. How much fabric will be needed to cover the area of both gardens? (Write in terms of
)
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4. A play court on the school playground is shaped like a square joined by a semicircle. The perimeter
around the entire play court is 182.8 ft., and 62.8 ft. of the total perimeter comes from the semicircle.
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a. What is the radius of the semicircle? Use 3.14 for .
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b. The school wants to cover the play court with sports court flooring. Using 3.14 for , how many
square feet of flooring does the school need to purchase to cover the play court?
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5. Marcus drew two adjacent angles.

a. If LABC has a measure one-third of ZCBD, then what is the degree measurement of ZCBD?
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6. The dimensions of an above-ground, rectangular pool are 25 feet long, 18 feet wide, and 6 feet deep.

a. How much water is needed to fill the pool?
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b. If there are 7.48 gallons in 1 cubic foot, how many gallons are needed to fill the pool?

2,700
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c. Assume there was a hole in the pool, and 3,366 gallons of water leaked from the pool. How many
feet did the water level drop?
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d. After the leak was repaired, it was necessary to lay a thin layer of concrete to protect the sides of the
pool. Calculate the area to be covered to complete the job.
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7. Gary is learning about mosaics in art class. His teacher passes out small square tiles and encourages the
students to cut up the tiles in various angles. Gary’s first cut tile looks like this:
T

im
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a. Write an equation relating £TIL with £LIE.
Im+ (m-10)=90
b. Solve form.

3m + (M-I = 90
3+ m-10 =90
4m -|0 =90
YUm-10+10=90H0
4m = |00
4m 4 = 1003
m = 25
c. Whatis the measure of £TIL?
3M
3(29)=15 L
mawmﬁ(}f LTL s 15"

d. Whatis the measure of ZLIE?

m —i0
2640= 15

The measuie o LLAE IS 159



